1 #19.4	B 25-027 Public Safety Facility - Office	C	D	E	F	G	Н	I	J	K	L	М	N	0	Р	Q	R	S	Т	U	V	W	Х
2 #19-4	:5-027 Public Salety Facility - Office	e rurniture																					
2 3 4 5					CTED - ot provide the																		
5					as required																		
6 7	Cotomoruli C											` '	& Stations #4			` '	easter & Asso.						Contract Furn.
8	Category I: S	eating		` '	nething Back ento. CA	(B) United Cor Sacrame			& Stations #1 ille, CA	` '	& Stations #2 ville, CA		ville, CA rand & Model)	` '	pbell Keller nento. CA		ento, CA and & Model)	` '	Office Supplies mento. Ca	` '	VCO nento, CA		Cordova, CA ands & Models)
Bid I	em Description	Quantity	Unit of	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
9 # 10 S1		164	Measure ea	\$418.01	\$68,553.64	\$130.85	\$21,459.40	\$204.15	\$33,480.60	\$204.15	\$33,480.60	\$395.60	\$64,878.40	\$306.34	\$40,084.59	\$430.00	\$70,520.00	\$425.27	\$69,744.28	\$476.63	\$78,167.32	\$375.92	\$61,650.8
11 S1	Task Chair Typical	14	ea	\$422.45	\$5,914.30	\$26.61	\$372.54	\$204.15	\$2,858.10	\$204.15	\$2,858.10	\$444.00	\$6,216.00	\$346.64	\$4,852.96	\$483.00	\$6,762.00	\$477.30	\$6,682.20	\$534.94	\$7,489.16	\$421.80	\$5,905.2
12 S2 13 S2		14 10	ea ea	\$699.30 \$699.30	\$9,790.20 \$6,993.00	\$569.38 \$569.38	\$7,971.32 \$5,693.80	\$614.19 \$614.20	\$8,598.66 \$6,142.00	\$614.19 \$614.20	\$8,598.66 \$6,142.00	\$614.19 \$614.20	\$8,598.66 \$6,142.00	\$614.20 \$614.20	\$8,598.80 \$6,142.00	\$609.00 \$609.00	\$8,526.00 \$6,090.00	\$614.20 \$614.20	\$8,598.80 \$6,142.00	\$674.02 \$674.02	\$9,436.28 \$6,740.20	\$614.20 \$614.20	\$8,598.8 \$6,142.0
15 32	· ·	2	ea	\$946.41	\$1,892.82	\$539.94	\$1,079.88	\$563.15	\$1,126.30	\$563.15	\$1,126.30	\$563.15	\$1,126.30	\$563.16	\$1,126.32	\$823.00	\$1,646.00	\$966.95	\$1,933.90	\$618.01	\$1,236.02	\$831.25	\$1,662.5
14 S	Task Chair Morgue Lab Conference Chair -		Ca								·		·										
15 S4	Board Room	10	ea	\$401.59	\$4,015.90	\$424.83	\$4,248.30	\$333.20	\$3,332.00	\$333.20	\$3,332.00	\$333.20	\$3,332.00	\$296.70	\$2,967.00	\$313.00	\$3,130.00	\$333.20	\$3,332.00	\$346.25	\$3,462.50	\$424.83	\$4,248.3
16 S	Guest Chair	66	ea	\$206.06	\$13,599.96	\$210.93	\$13,921.38	\$200.17	\$13,211.22	\$200.17	\$13,211.22	\$199.39	\$13,159.74	\$636.47	\$42,007.02	\$197.00	\$13,002.00	\$200.17	\$13,211.22	\$228.22	\$15,062.52	\$228.79	\$15,100.1
17 Se		21	ea	\$485.02	\$10,185.42	\$251.84	\$5,288.64	\$279.72	\$5,874.12	\$279.72	\$5,874.12	\$278.62	\$5,851.02	\$889.41	\$18,677.61	\$275.00	\$5,775.00	\$279.72	\$5,874.12	\$318.92	\$6,697.32	\$319.71	\$6,713.9
18 S7	Multipurpose Chair Typical Conference	116	ea	\$260.93	\$30,267.88	\$190.42	\$22,088.72	\$205.72	\$23,863.52	\$205.72	\$23,863.52	\$204.91	\$23,769.56	\$654.12	\$75,877.92	\$202.00	\$23,432.00	\$211.64	\$24,550.24	\$234.54	\$27,206.64	\$235.13	\$27,275.0
19 S8	Room Chair	148	ea	\$326.60	\$48,336.80	\$307.33	\$45,484.84	\$204.84	\$30,316.32	\$204.84	\$30,316.32	\$317.69	\$47,018.12	\$1,076.47	\$159,317.56	\$332.00	\$49,136.00	\$344.47	\$50,981.56	\$385.99	\$57,126.52	\$364.54	\$53,951.9
20 S9 21 S1 22 S1		19 51	ea ea	\$269.80 \$269.80	\$5,126.20 \$13,759.80	\$171.22 \$98.61	\$3,253.18 \$5,029.11	\$75.60 \$147.40	\$1,436.40 \$7,517.40	\$75.60 \$147.40	\$1,436.40 \$7,517.40	\$146.01 \$170.73	\$2,774.19 \$8,707.23	\$145.46 \$212.00	\$2,763.74 \$10,812.00	\$147.00 \$173.00	\$2,793.00 \$8,823.00	\$140.40 \$98.05	\$2,667.60 \$5,000.55	\$169.16 \$205.70	\$3,214.04 \$10,490.70	\$156.00 \$165.20	\$2,964.0 \$8,425.2
22 S1		5	ea	\$792.54	\$3,962.70	\$538.50	\$2,692.50	\$856.55	\$4,282.75	\$856.55	\$4,282.75	\$495.33	\$2,476.65	\$2,723.53	\$13,617.65	\$452.00	\$2,260.00	\$1,051.17	\$5,255.85	\$525.61	\$2,628.05	\$1,201.46	\$6,007.3
23 S1 24 S1	_	3 6	ea ea	\$1,146.65 \$792.54	\$3,439.95 \$4,755.24	\$722.76 \$1,076.71	\$2,168.28 \$6,460.26	\$1,201.76 \$710.40	\$3,605.28 \$4,262.40	\$1,201.76 \$710.40	\$3,605.28 \$4,262.40	\$700.61 \$918.21	\$2,101.83 \$5,509.26	\$3,821.18 \$991.22	\$11,463.54 \$5,947.32	\$641.00 \$919.00	\$1,923.00 \$5,514.00	\$1,472.23 \$882.90	\$4,416.69 \$5,297.40	\$744.55 \$1,063.73	\$2,233.65 \$6,382.38	\$1,682.72 \$981.00	\$5,048.1 \$5,886.0
24 S1 25 S1	•	4	ea	\$792.54	\$3,170.16	\$1,165.06	\$4,660.24	\$808.40	\$3,233.60	\$808.40	\$3,233.60	\$993.56	\$3,974.24	\$995.16	\$3,980.64	\$994.00	\$3,976.00	\$955.35	\$3,821.40	\$1,151.02	\$4,604.08	\$1,061.50	\$4,246.0
26 S1	Tandem Lobby Seating	6	ea	\$549.74	\$3,298.44	\$1,826.89	\$10,961.34	\$1,120.23	\$6,721.38	\$1,120.23	\$6,721.38	\$1,557.97	\$9,347.82	\$1,572.95	\$9,437.70	\$1,558.00	\$9,348.00	\$1,498.05	\$8,988.30	\$1,804.88	\$10,829.28	\$1,664.50	\$9,987.0
27 S1	7 2-Seat Tandem Seating	2	ea	\$1,072.10	\$2,144.20	\$1,298.96	\$2,597.92	\$759.37	\$1,518.74	\$759.37	\$1,518.74	\$1,107.75	\$2,215.50	\$1,118.41	\$2,236.82	\$1,108.00	\$2,216.00	\$1,065.15	\$2,130.30	\$1,283.31	\$2,566.62	\$1,183.50	\$2,367.0
27 S1 28 S1	Outdoor Seating Category I - Seating	12 Sub Totala	ea	\$360.81	\$4,329.72 \$243,536.33	\$286.72	\$3,440.64 \$168,872.29	\$254.06	\$3,048.72 \$164,429.51	\$254.06	\$3,048.72 \$164,429.51	\$254.06	\$3,048.72 \$220,247.24	\$373.55	\$4,482.60 \$424,393.79	\$314.00	\$3,768.00 \$228,640.00	\$399.50	\$4,794.00 \$233,422.41	\$347.77	\$4,173.24 \$259,746.52	\$320.72	\$3,848.6 \$240,028.0
30	Category 1- Seating	Sub-10tais			\$243,330.33	L	\$100,072.29		\$104,429.51		\$104,429.51		\$220,241.24		\$424,393.79		\$228,040.00	_	\$233,422.41		\$259,740.52		φ240,026.0
29 30 31 32				7											ı		1	1					
33	Category I: S	eating														` '	easter & Asso. ento, CA					` '	Contract Furn. Cordova, CA
34																	ands Quoted)						rands Quoted)
35 Bid I f	Description Description	Quantity	Unit of Measure													Unit Price	Extension					Unit Price	Extension
36 S1 37 S1	* * * * * * * * * * * * * * * * * * * *	164	ea	Ī												\$304.00	\$49,856.00					\$290.00	\$47,560.0
38 S2	· · · · · · · · · · · · · · · · · · ·	14 14	ea ea													\$337.00 \$594.00	\$4,718.00 \$8,316.00					\$325.00 \$600.00	\$4,550.0 \$8,400.0
39 S2	Task Chair Dispatch	10	ea													\$594.00	\$5,940.00					\$600.00	\$6,000.0
40 S		2	ea													\$564.00	\$1,128.00					\$973.00	\$1,946.0
41 S4	Conference Chair - Board Room	10	ea													\$206.00	\$2,060.00					\$424.83	\$4,248.3
42 S		66	ea													\$197.00	\$13,002.00					\$135.50	\$8,943.0
43 56	Capt Office Guest Chair	21	ea													\$155.00	\$3,255.00					\$345.00	\$7,245.0
44 S7	Multipurpose Chair	116	ea													\$128.00	\$14,848.00					\$152.35	\$17,672.6
45 S8	Typical Conference Room Chair	148	ea													\$243.00	\$35,964.00					\$330.00	\$48,840.0
46 SS	Side Chair	19	ea													\$63.00	\$1,197.00					\$156.00	\$2,964.0
46 S9 47 S1 48 S1 49 S1 50 S1 51 S1		51 5	ea ea													\$134.00 \$452.00	\$6,834.00 \$2,260.00					\$142.00 \$1,201.46	\$7,242.0 \$6,007.3
49 S1	Loveseat	3	ea													\$641.00	\$1,923.00					\$1,682.72	\$5,048.1
50 S1 51 S1		6 4	ea ea													\$919.00 \$594.00	\$5,514.00 \$2,376.00					\$981.00 \$1,061.50	\$5,886.0 \$4,246.0
		6	ea													\$1,558.00	\$9,348.00					\$755.00	\$4,530.0
52 S1		2	ea													\$1,308.00	\$2,616.00					\$509.00	\$1,018.0
53 S1 54 S1	_	12	ea													\$314.00	\$3,768.00					\$133.00	\$1,596.0
55 56	Category I - Seating	Sub-Totals	-	•											!		\$174,923.00						\$193,942.3
56																							

Cell: E10 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Hon, Series: Ignition, Model # HIWM2.N.H.U.PNS004.T.SB **Cell**: 110 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: 9 to 5 Seating Series: Core Model: 2260,Y5 A00 Grade D Cell: K10 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: 9 to 5 Seating Series: Core Model: 2260,Y5 A00 Grade D Cell: 010 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Hon Series: Ignition Model #: HIWM2 Armless Cell: E11 Bidder Quoted Alternate Brand: Hon, Ignition Bidder Quoted Alternate Bidder Quoted Alternate Brand: Hon, Model # HIWM2 Cell: 111 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: 9 to 5 Seating Series: Core Model: 2260,Y5 A00 Grade D Cell: K11 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: 9 to 5 Seating Series: Core Model: 2260,Y5 A00 Grade D Cell: 011 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Hon Series: Ignition Model #: HIWM2 Armless Cell: E12 Comment: Eric Van Leeuwen: Bidder quoted the desired brand, series, and model Cell: E13 Comment: Eric Van Leeuwen: Bidder quoted the desired brand, series, and model Cell: E14 Comment: Eric Van Leeuwen: Bidder quoted the desired brand, series, and model Cell: E15 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Hon, Series: Ignition, Model # HEIH1.A. Cell: 015 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: 9 to 5 Seating Model #: 2900-S2-A19 Cell: E16 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Hon, Series: Pagoda, Model # H4073 Cell: E17 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Hon, Series: Pagoda,

Model # H4093.

Cell: E18

Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Hon, Series: Ignition, Model # HIGS.6.N Cell: E19 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Hon, Series: Solve, Model # HSLVTMUS **Cell**: 119 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: SitOnIt Series Rio Task Model: 1052FT3.UP FC@ B21 Cell: K19 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: SitOnIt Series Rio Task Model: 1052FT3.UP FC@ B21 Cell: E20 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Hon, Model # HMG1 Cell: 120 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Via Seating Series: Zee Model: 731012 B Cell: K20 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Via Seating Series: Zee Model: 731012 B Cell: E21 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Hon, Series: Motivate, Model # HMG1 Cell: G21 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Steelcase Model #: 490410P Cell: 121 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Via Seating Series: Zee Model: 731012 B Cell: K21 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Via Seating Series: Zee Model: 731012 B Cell: 021 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Acray Model #: BRIO-1.26.76.26 Cell: S21 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Global Series: Bakhita Model #: 6751 Cell: E22 Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon,

Series: Grove, Model # HML1S

Cell: E23
Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Grove, Model # HML2S

Cell: E24

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Grove, Model # HML1S

Cell: 124

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Kimball Series Boyd Model: K741A Cantor Storm

Cell: K24

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Kimball Series Boyd Model: K741A Cantor Storm

Cell: E25

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Grove, Model # HML1S

Cell: 125

omment: Eric Van Leeuwe

Bidder Quoted Alternate Brand: Kimball Series Boyd Model: K741A Cover Cloth

Cell: K25

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Kimball Series Boyd Model: K741A Cover Cloth

Cell: E26

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon,
Series: Ignition
Model # HILTL

Cell: 126

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Ideon Series Aviera Model: VRF SN3.FM3.AC1

Cell: K26

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Ideon Series Aviera Model: VRF SN3.FM3.AC1

Cell: E27

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Versant, Model # HHCT02

Cell: 127

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Ideon Series Aviera Model: VRF SN3.FM3.AC1

Cell: K27

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Ideon Series Aviera Model: VRF SN3.FM3.AC1

Cell: E28

Comment: Eric Van Leeuwen:

Bidder quoted the desired brand, series, and model

Cell: G28

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brnad: Steelcase

Series: Emu Chair Model #: CO2485 Cell: N29

Comment: Eric Van Leeuwen:

Bidder Quoted all the desired brands and models as specified

Cell: R

Comment: Eric Van Leeuwen:

Bidder Quoted all the desired brands and models as specified

Cell: R55

Comment: Eric Van Leeuwen:

Bidder Quoted all the desired brands and models as specified

A	R	· ·	D	E	F	G	н	-		K	1 1	M	N	0	P	Q	R	S	Т	U	V	W	x
1	#19-425-027 Public Safety Fa	cility - Office Furnit		Ļ	ļ '	, d			, ,	K	L	IVI	I N	0	, ,	ų .	, ,	3	<u>'</u>	Ü	Į v		^
2 3 4 5 6				Bidder did n	CTED - ot provide the n as required																		
8	Category II:	Tables			mething Back nento, CA	(B) United Co Sacrame			& Stations #1 ille, CA		& Stations #2 ville, CA	Rose	& Stations #3 ville, CA and & Model)		pbell Keller nento, CA	Sacram	easter & Asso. lento, CA and & Model)	` '	Office Supplies mento, Ca	` '	VCO nento, CA	Rancho	Contract Furn. Cordova, CA rands Quoted)
9 Bid It	Description	Quantity	Unit of Measure	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
10 T1 11 T2 12 T3		1	ea	\$476.95	\$476.95	\$565.24	\$565.24	\$333.48	\$333.48	\$333.48	\$333.48	\$482.04	\$482.04	\$486.68	\$486.68	\$483.00	\$483.00	\$463.50	\$463.50	\$558.43	\$558.43	\$515.00	\$515.00
11 T2		4	ea	\$593.41	\$2,373.64	\$603.66	\$2,414.64	\$1,225.23	\$4,900.92	\$1,225.23	\$4,900.92	\$482.04	\$1,928.16	\$578.06	\$2,312.24	\$579.00	\$2,316.00	\$1,235.70	\$4,942.80	\$892.41	\$3,569.64	\$618.25	\$2,473.00
12 T3		2	ea ea	\$836.96 \$839.89	\$1,673.92 \$2,519.67	\$1,763.24 \$2,091.96	\$3,526.48 \$6,275.88	\$429.43 \$800.80	\$858.86 \$2,402.40	\$429.43 \$800.80	\$858.86 \$2,402.40	\$1,503.68 \$1,784.01	\$3,007.36 \$5,352.03	\$1,518.14 \$1,801.18	\$3,036.28 \$5,403.54	\$1,635.00 \$1,785.00	\$3,270.00 \$5,355.00	\$1,445.85 \$1,715.40	\$2,891.70 \$5,146.20	\$1,741.99 \$2,066.75	\$3,483.98	\$1,606.50 \$1,906.00	\$3,213.00 \$5,718.00
13 T4	Conference Table	1	ea	\$1,052.89	\$1,052.89	\$2,831.71	\$2,831.71	\$1,102.53	\$1,102.53	\$1,102.53	\$1,102.53	\$2,414.88	\$2,414.88	\$1,601.16	\$2,407.78	\$2,415.00	\$2,415.00	\$2,322.00	\$2,322.00	\$2,000.75	\$6,200.25 \$2,797.59		\$2,580.00
Ħ "	Board Room	;				·			-								-					· ·	
15 T6		1	ea	\$839.89	\$839.89	\$4,113.57	\$4,113.57	\$3,405.18	\$3,405.18	\$3,405.18	\$3,405.18	\$3,405.18	\$3,405.18	\$3,376.80	\$3,376.80	\$3,594.00	\$3,594.00	\$3,591.60	\$3,591.60	\$1,994.24	\$1,994.24	\$3,019.80	\$3,019.80
16 T7		9	ea	\$375.72	\$3,381.48	\$417.07	\$3,753.63	\$132.96	\$1,196.64	\$295.44	\$2,658.96	\$355.68	\$3,201.12	\$350.10	\$3,150.90	\$356.00	\$3,204.00	\$342.00	\$3,078.00	\$271.94	\$2,447.46	\$380.00	\$3,420.00
17 T8	- 1	7	ea	\$375.72	\$2,630.04	\$422.56	\$2,957.92	\$132.96	\$930.72	\$298.01	\$2,086.07	\$360.36	\$2,522.52	\$363.83	\$2,546.81	\$361.00	\$2,527.00	\$346.50	\$2,425.50	\$271.94	\$1,903.58	\$385.00	\$2,695.00
18 T9		6 5	ea ea	\$79.35 \$502.98	\$476.10 \$2,514.90	\$468.65 \$1,122.80	\$2,811.90 \$5,614.00	\$399.67 \$453.02	\$2,398.02 \$2,265.10	\$399.67 \$453.02	\$2,398.02 \$2,265.10	\$399.67 \$957.52	\$2,398.02 \$4,787.60	\$403.51 \$966.74	\$2,421.06 \$4,833.70	\$400.00 \$958.00	\$2,400.00 \$4,790.00	\$384.30 \$920.70	\$2,305.80 \$4,603.50	\$463.01 \$478.66	\$2,778.06 \$2,393.30	\$427.00 \$1,023.00	\$2,562.00 \$5,115.00
20 T1		3	ea	\$196.71	\$590.13	\$556.46	\$1,669.38	\$271.57	\$814.71	\$271.57	\$814.71	\$271.57	\$814.71	\$370.43	\$1,111.29	\$388.00	\$1,164.00	\$456.30	\$1,368.90	\$309.40	\$928.20	\$272.00	\$816.00
21 T1		2	ea	\$258.11	\$516.22	\$880.77	\$1,761.54	\$690.80	\$1,381.60	\$690.80	\$1,381.60	\$690.80	\$1,381.60	\$207.24	\$414.48	\$648.00	\$1,296.00	\$690.80	\$1,381.60	\$717.86	\$1,435.72	\$880.77	\$1,761.54
	Flip & Nest Multi-	20	ea	\$553.80	\$11,076.00	\$705.33	\$14,106.60	\$371.52	\$7,430.40	\$457.89	\$9,157.80	\$553.20	\$11,064.00	\$508.80	\$10,176.00	\$519.00	\$10,380.00	\$553.20	\$11,064.00	\$574.87	\$11,497.40	\$799.17	\$15,983.40
22 T1	' '	20	ea	φ333.00	\$11,070.00	Ψ103.33	\$14,100.00	ψ3/1.32	Ψ1,430.40	ψ437.09	ψ9,137.00	ψ555.20	\$11,004.00	φ300.00	\$10,170.00	φ519.00	φ10,360.00	ψ555.20	\$11,004.00	ψ5/4.6/	φ11,497.40	Ψ199.11	\$15,965.40
23 T1	Nestin Multi-purpose Table	44	ea	\$578.02	\$25,432.88	\$949.16	\$41,763.04	\$721.28	\$31,736.32	\$628.06	\$27,634.64	\$744.44	\$32,755.36	\$738.21	\$32,481.24	\$698.00	\$30,712.00	\$744.44	\$32,755.36	\$844.63	\$37,163.72	\$949.16	\$41,763.04
24 T1		3	ea	\$1,397.00	\$4,191.00	\$411.97	\$1,235.91	\$1,242.00	\$3,726.00	\$1,242.00	\$3,726.00	\$1,242.00	\$3,726.00	\$1,315.06	\$3,945.18	\$1,215.00	\$3,645.00	\$1,495.00	\$4,485.00	\$1,346.75	\$4,040.25	\$1,242.00	\$3,726.00
П		5	ea	\$558.40	\$2,792.00	\$1,042.68	\$5,213.40	\$429.86	\$2,149.30	\$429.86	\$2,149.30	\$889.20	\$4,446.00	\$897.75	\$4,488.75	\$890.00	\$4,450.00	\$855.00	\$4,275.00	\$455.18	\$2,275.90	\$950.00	\$4,750.00
25 T1	Manual Sit-Stand Table]		******	\$62,537.71	* *,* *=***	\$100,614.84	*	\$67,032.18	*	\$67,275.57	*****	\$83,686.58	*******	\$82,592.73	******	\$82,001.00	*******	\$87,100.46	¥	\$85,467.72	*	\$100,110.78
27					ψ02,001.11		ψσσ,σσ.		ψο, ,σοΣ. το	ı	ψοι ,Σι σισι	ı	φοσ,σσσ.σσ		Ψ02,002.10		ψ02,001100		φον,του.το		ψου, ιστ 2		ψ100;1100
26 27 28 29 30 31	Category II:	Tables														Sacram	easter & Asso. ento, CA rands Quoted)					Rancho	Contract Furn. Cordova, CA Frands Quoted)
32 #	Description	Quantity	Unit of Measure													Unit Price	Extension					Unit Price	Extension
	Conference Table	1	ea	†												\$483.00	\$483.00					\$173.50	\$173.50
34 T2		4	ea													\$579.00	\$2,316.00					\$275.00	\$1,100.00
33 T1 34 T2 35 T3 36 T4 37 T5		2	ea													\$1,635.00	\$3,270.00					\$375.00	\$750.00
36 T4		3	ea ea													\$1,785.00 \$2,415.00	\$5,355.00 \$2,415.00					\$453.00 \$795.00	\$1,359.00
3/ 13	Board Room	'															. ,					•	\$795.00
38 T6		1	ea													\$3,594.00	\$3,594.00					\$3,019.80	\$3,019.80
39 T7		9	ea													\$356.00	\$3,204.00					\$140.00	\$1,260.00
40 T8	- 1	7	ea													\$361.00	\$2,527.00					\$140.00	\$980.00
41 TS		6	ea													\$400.00	\$2,400.00					\$427.00	\$2,562.00
42 T1		5 3	ea													\$1,013.00	\$5,065.00					\$732.00	\$3,660.00 \$816.00
39 T7 40 T8 41 T9 42 T1 43 T1 44 T1		2	ea ea													\$388.00 \$648.00	\$1,164.00 \$1,296.00					\$272.00 \$880.77	\$816.00 \$1,761.54
H ''	Flip & Nest Multi-	_															-						
45 T1	purpose Table	20	ea													\$519.00	\$10,380.00					\$404.00	\$8,080.00
46 T1	Nestin Multi-purpose Table	44	ea													\$698.00	\$30,712.00					\$750.00	\$33,000.00
47 T1		3	ea													\$1,215.00	\$3,645.00					\$290.00	\$870.00
48 T1	Manual Sit-Stand Table	5	ea													\$1,086.00	\$5,430.00					\$682.00	\$3,410.00
49			•	_													\$83,256.00						\$63,596.84

Cell: F10

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Preside, Model # HTLC3060 & HTTLEG60

...

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork

Series Sensation Model: CR3060LMT302

Cell: K10

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork Series Sensation Model: CR3060LMT302

Cell: F11

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Preside, Model # HTLC3672 & HTTLEG72

Cell: |11

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork Series Sensation Model: CR3672LMT302 & CR3672LMT302DDE44

Cell: K11

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork

Series Sensation

Model: CR3672LMT302 & CR3672LMT302DDE44

Cell: F12

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Preside, Model # HTLC4296LCTHP

Cell: 112

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork Series Sensation Model: BT4296LMT302

Cell: K12

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork Series Sensation Model: BT4296LMT302

Cell: F13

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Preside, Model # HTLC48120 & HTTLEG120

Cell: I13

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork Series Sensation Model: BT48120LLMT302

Cell: K13

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork Series Sensation Model: BT48120LMT302

Cell: F14

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Preside, Model # HTLC54144 & HTTLEG144

Cell: 114

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork Series Sensation Model: BT60144LMT48LMT60

Cell: K14

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork Series Sensation

Model: BT60144LMT48LMT60

Cell: F15

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon,

Series: Preside,

Model # HTLC48120 & HTTLEG120

Cell: G15

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Steelcase Series: Convene Table Model # CWFT48144-CFLEXT24

Cell: F16

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Preside, Model # HTLD36 & HTXLEG

Cell: 116

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: AIS Series: Tables Model: TRDR3629AXG

Call, V1C

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork Series: Sensation Model: R36LMXB

Cell: U16

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Taknion Series: Expansion Model # BCMROF36

Cell: F17

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Preside, Model # HTLS36 & HTXLEG

Cell: 117

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: AIS Series: Tables Model: TSQR3629AXG

Cell: K17

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork Series: Sensation Model: CR3636LMX C

Cell: U17

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Taknion Series: Expansion Model # BCMNSF36

Cell: F18

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Preside, Model # HML8851

Cell: F19

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Coordinate Model # HSLR3072 & HHAB252L

Cell: 119

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork Series: Solano Model: CR3072LVTCRR-72

Cell: K19

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork

Series: Sensation Model: CR3072LVTCRR-72 Cell: U19 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Taknion Model # YSRE63072 Cell: F20 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Hon, Series: bUILD, Model # HESQ-36E-4L & Cell: S20 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: ERG Int'l Series: Post Model #: PT36S Cell: 021 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Enwork Series: Not Given Model # LDFA Cell: F22 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Hon, Series: Motivate, Model # HMVR-3060G-NS Cell: 122 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: AIS Series: Tables Model: T-RCR306029FLC Cell: K22 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Enwork Series: Ritz Model: R23060A Cell: 022 Comment: Eric Van Leeuwen: Bidder Quote Alternate Brand: Allsteel Model # AW3LM0N60CB Cell: F23 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Hon, Series: Motivate, Model # HMVR-3072G Cell: G23 Comment: Eric Van Leeuwen: Bidder quoted \$9,349.16 ea, which seemed high, and after confirming it was \$949.16 ea per email. Cell: 123 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: AIS Series: Tables Model: T-RCR307229FLC Cell: K23 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Enwork Model: RZ3072APDVC9 Cell: 023 Comment: Eric Van Leeuwen: Bidder Quote Alternate Brand: Allsteel Series: Aware Model # AW3LF3072 Cell: F24 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Forms & Surfaces, Series: Column Table, Model # SPCOLT30R36

Cell: G24

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Steelcase Series: Emu Table Model #: CO2470

Cell: F25

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Coordinate, Model # HLSLR3048 & HHAB2S2L

Cell: 125

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork Series: Solano Model: CR3048LVTCRR-48

Cell: K25

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Enwork Series: Ritz Model: CR3048LVTCRR-48

Cell: U25

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Taknion Series: Complements Model # YSRE63048

Cell: 038

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Spec Furniture Series: Tailgate Model: TG48120RE-TMGRT2

Cell: Q42

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Humanscale Series: Float Table Model: FNSR43 3048

Cell: Q45

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Herman Miller Series: Everywhere Model: DT1AS.3048LT

Cell: Q46

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Herman Miller Series: Everywhere Model: DT5AS.3072LT

Cell: Q48

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Humanscale Series: Float Table Model: FNSR63 3072PLF

	A	В	С	D	E	F	G	Н	I	J	K	L	М	N	0	Р	Q	R	S	T	U	V	W	Х
1	#19-425-0	027 Public Safet	y Facility - Offi	ce Furniture																				
2 3 4 5					Bidder did n	CTED - ot provide the as required																		
6 7	Cate	egory III: Filing 8	& Storage			mething Back	(B) United Co		(C) Seats &			Stations #2	Rosev	Stations #3 ille, CA and & Model)	(F) Camp Sacrame		` '	aster & Asso. ento, CA		Office Supplies		VCO nento, CA	Rancho C	Contract Furn. Cordova, CA rands Quoted)
	id Des	scription	Quantity	Unit of	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
9 Ite	""		quantity	Measure																				
	1 4H Lateral 3 4h Vertical		9 11	ea	\$772.94 \$427.06	\$6,956.46 \$4,697.66	\$586.22 \$482.07	\$5,275.98 \$5,302.77	\$356.00 \$140.79	\$140.79 \$1,548.69	\$430.83 \$140.79	\$3,877.47 \$1,548.69	\$612.80 \$281.05	\$5,515.20 \$3,091.55	\$486.84 \$224.15	\$4,381.56 \$2,465.65	\$613.00 \$284.00	\$5,517.00 \$3,124.00	\$367.41 \$161.32	\$3,306.69 \$1,774.52	\$617.42 \$284.28	\$5,556.78 \$3,127.08	\$576.00 \$205.00	\$5,184.00 \$2,255.00
	3 4h Vertical4 2h Lateral		19	ea ea	\$427.06 \$697.06	\$13,244.14	\$462.07 \$474.57	\$9,016.83	\$140.79 \$274.72	\$5,219.68	\$373.94	\$7,104.86	\$435.98	\$8,283.62	\$439.04	\$2,465.65 \$8,341.76	\$354.00	\$6,726.00	\$323.38	\$6,144.22	\$204.20 \$355.70	\$6,758.30	\$424.00	\$8,056.00
		tal Shelving	46	ea	\$91.60	\$4,213.60	\$310.43	\$14,279.78	\$150.47	\$6,921.62	\$150.47	\$6,921.62	\$150.60	\$6,927.60	\$217.58	\$10,008.68	\$143.00	\$6,578.00	\$212.34	\$9,767.64	\$132.53	\$6,096.38	\$138.89	\$6,388.94
		tal Shelving	4	ea	\$303.27	\$1,213.08	\$255.97	\$1,023.88	\$207.00	\$828.00	\$207.00	\$828.00	\$186.77	\$747.08	\$263.96	\$1,055.84	\$190.00	\$760.00	\$225.00	\$900.00	\$184.34	\$737.36	\$181.11	\$724.44
П	Storage Ca		9	ea	\$627.06	\$5,643.54	\$438.42	\$3,945.78	\$461.28	\$4,151.52	\$199.75	\$1,797.75	\$497.15	\$4,474.35	\$394.95	\$3,554.55	\$683.00	\$6,147.00	\$501.93	\$4,517.37	\$500.89	\$4,508.01	\$420.00	\$3,780.00
	Storage Ca	Cabinet w/ door,	2	ea	\$687.06	\$1,374.12	\$268.42	\$536.84	\$510.81	\$1,021.62	\$510.81	\$1,021.62	\$544.72	\$1,089.44	\$394.95	\$789.90	\$792.00	\$1,584.00	\$547.14	\$1,094.28	\$500.89	\$1,001.78	\$476.00	\$952.00
П	l2 shelf & roo	od	32	ea	\$772.94	\$24,734.08	\$317.15	\$10,148.80	\$327.36	\$10,475.52	\$521.70	\$16,694.40	\$519.66	\$16,629.12	\$680.53	\$21,776.96	\$512.00	\$16,384.00	\$521.70	\$16,694.40	\$594.80	\$19,033.60	\$596.29	\$19,081.28
		orage Cabinet	32				•			,				·										*
	Mixed Cre		1	ea	\$1,845.88	\$1,845.88	\$4,652.73	\$4,652.73	\$1,757.44	\$1,757.44	\$3,649.20	\$3,649.20	\$3,649.20	\$3,649.20	\$4,281.25	\$4,281.25	\$3,422.00	\$3,422.00	\$3,649.20	\$3,649.20	\$3,141.58	\$3,141.58	\$4,287.81	\$4,287.81
	3 Display Ca		6	ea	\$921.76	\$5,530.56	\$984.30	\$5,905.80	\$342.24	\$2,053.44	\$733.40	\$4,400.40	\$733.40	\$4,400.40	\$560.10	\$3,360.60	\$724.00	\$4,344.00	\$772.00	\$4,632.00	\$755.95	\$4,535.70	\$907.10	\$5,442.60
	2-High Boo		2	ea	\$313.53	\$627.06	\$146.11	\$292.22	\$191.20	\$382.40	\$99.88	\$199.76	\$108.19	\$216.38	\$85.96	\$171.92	\$109.00	\$218.00	\$80.66	\$161.32	\$109.01	\$218.02	\$101.00	\$202.00
22	5-High Boo	tegory III - Filing	2 S Ctarana Cub	ea	\$468.82	\$937.64 \$71,017.82	\$282.93	\$565.86 \$60,947.27	\$234.08	\$468.16 \$34,968.88	\$172.48	\$344.96 \$48,388.73	\$220.58	\$441.16 \$55,465.10	\$175.25	\$350.50 \$60,539.17	\$532.00	\$1,064.00 \$50,351.00	\$183.52	\$367.04 \$53,008.68	\$222.25	\$444.50 \$49,602.31	\$202.50	\$405.00 \$56.759.07
	Cale	legory III - Filling	& Storage Sui	Jiotais		\$71,017.02		φ00,94 <i>1</i> .2 <i>1</i>		\$34,900.00		ψ 4 0,300.73		φυυ, 4 0υ.10		\$00,559.17		φ30,331.00		\$33,006.06		\$49,002.31		\$30,739.07
24																								
23 24 25 26																ſ	(G) Miles Tre						(-)	Contract Furn.
27	Cate	egory III: Filing 8	& Storage														Sacram	, .						Cordova, CA
28	.,															<u> </u>	(Alternate Br	ands Quoted)					(Alternate Bi	rands Quoted)
29 lte	id n# Des	scription	Quantity	Unit of Measure													Unit Price	Extension					Unit Price	Extension
	1 4H Lateral	al File	9	ea													\$394.00	\$3,546.00					\$576.00	\$5,184.00
	3 4h Vertical		11	ea													\$142.00	\$1,562.00					\$205.00	\$2,255.00
	4 2h Lateral		19	ea													\$236.00	\$4,484.00					\$424.00	\$8,056.00
		tal Shelving	46	ea													\$143.00	\$6,578.00					\$138.89	\$6,388.94
34		tal Shelving	4	ea													\$190.00	\$760.00					\$181.11	\$724.44
25		Cabinet w/	9	ea													\$683.00	\$6,147.00					\$420.00	\$3,780.00
	Storage Ca	Cabinet w/ door,	2	ea													\$202.00	\$404.00					\$476.00	\$952.00
	l2 shelf & roo	oa	32	ea													\$512.00	\$16,384.00					\$402.00	\$12,864.00
	Office Stor Mixed Cre	orage Cabinet edenza	1	ea													\$3,422.00	\$3,422.00					\$1,757.44	\$1,757.44
	33 Display Ca		6	ea													\$724.00	\$4,344.00					\$384.00	\$2,304.00
	4 2-High Boo		2	ea													\$81.00	\$162.00					\$101.00	\$202.00
	5 5-High Boo	ookcase	2	ea													\$154.00	\$308.00					\$202.50	\$405.00
42	Cate	tegory III - Filing	& Storage Sub	Totals	•											_		\$44,555.00				'		\$44,872.82

Cell: I10 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: AIS Series: Storage Model # : S-LATJ4D36 Cell: K10 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Global Furniture Series: 9300 Model: 9336P4FIHLGR Cell: S10 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Global Series: 1900P Model #: 1936P-4F12 Cell: E11 Comment: Eric Van Leeuwen: Bidder quoted the desired brand, series, and model # Cell: I11 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Global Model 25-401 Cell: K11 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Global Furniture Series: Not Stated Model: 25-401 Cell: S11 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Global Series: 2600P Model #: 26-401 Cell: E12 Comment: Eric Van Leeuwen: Bidder quoted the desired brand, series, and model # Cell: G12 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Steelcase Model #: 2LF18362F Cell: 112 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: AIS Series: Storage Model #: SLATJJRD36WSL36 Cell: K12 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Global Furniture Series: 9300 Model: 9336P@FIHLGR Cell: S12 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Global Series: 1900P Model #: 1936P-2F12 Cell: E13 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Alera, Series: Shelving, Model # SW50-3624SR Cell: O13 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Global Industrial Series: Not Given Model# : 188428 Cell: S13 Comment: Eric Van Leeuwen:

Cell: E10 Comment: Eric Van Leeuwen:

Bidder quoted the desired brand, series, and model #

Bidder Quoted Alternate Brand: Global Series: 1900P

Model #: ALESW504824SR & ALESW59SL3624

Cell: E14

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Safco Series: Shelving, Model # SAF6247L (2)

Cell: 014

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Global Industrial Series: Not Given

Model# : T97504281

Cell: E15

Comment: Eric Van Leeuwen:

Bidder quoted the desired brand, series, and model #

Cell: I15

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: AIS Series: Storage

Cell: K15

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Global Furniture

Model #: 9336S72LLGR

Model # SCABL2D66

Cell: E16

Comment: Eric Van Leeuwen:

Bidder quoted the desired brand, series, and model #

Cell: 116

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Global Furniture Model #: 1236P5WSTPG10LPG

Cell: K16

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Global Furniture Series: 1200P

Model #: 1236P5WSTPG10LGR

Cell: E17

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: VOI,

Model # HLSL2030MCO

Cell: I17
Comment: Eric Van Leeuwen:

ent: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: AIS

Series: Calibrate

Model # XBBLCR3018

Cell: E18

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: VOI, Model # HLSL2030LD@ (1) HLSL2030

Cell: 118

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: AIS Series: Calibrate Model # Not Given

Cell: 018

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Custom Transitions Series: Not Given Model# : Mixed Credenza

Cell: E19

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Hon, Series: Concinnity, Model # HNL241865SFX

Cell: 119

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: AIS

Series: Calibrate Model # XPFFO74

Cell: 019

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Global Furn. Grp.

Model# : Z16L7EN

Cell: E20

Comment: Eric Van Leeuwen:

Bidder quoted the desired brand, series, and model #

Cell: 120

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: AIS

Series: Calibrate Model # S-BCL2836

Cell: K20

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Global Furniture

Series: 9300

Model #: 915BC2-36 LGR

Cell: S20

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Global

Series: Not Given Model #: 91SBC2-36

Cell: E21

Comment: Eric Van Leeuwen:

Bidder quoted the desired brand, series, and model #

Cell: 121

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: AIS

Series: Calibrate

Model # S-BCL6636

Cell: K21

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Global Furniture Series: 9300

Model #: 915BC5-36 LGR

Cell: S21

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Global

Series: Not Given Model #: 91SBC6-36

Composition	A	В	c	D	F	F	6	н	1		K		М	N	0	Р	Q	l R	S	т	I u	l v	w	X
Part			lity - Office Furnitu				0		'	,	K		IVI	N			ų	N.		<u> </u>		· · ·	**	
Part					Bidder did no	t provide the																		
March Marc		Category IV - Desks	& Desking										Rosev	ille, CA			Sacran	nento, CA					Rancho C	ordova, CA
Part	Bid Item	Description	Quantity																					Extension
Part	D1L		3		\$950.96	\$2,852.88	\$1,139.02	\$3,417.06	\$750.88	\$2,252.64	\$746.66	\$2,239.98	\$743.73	\$2,231.19	\$924.13	\$2,772.39	\$733.00	\$2,199.00	\$976.50	\$2,929.50	\$858.35	\$2,575.05	\$853.41	\$2,560.2
Part	D1R	L-Shaped Corner Desk, Left w/ Flush return,	4	ea	\$950.96	\$3,803.84	\$1,139.05	\$4,556.20	\$750.88	\$3,003.52	\$746.66	\$2,986.64	\$743.73	\$2,974.92	\$924.13	\$3,696.52	\$733.00	\$2,932.00	\$976.50	\$3,906.00	\$858.35	\$3,433.40	\$853.41	\$3,413.6
Section Part	D2L	L-Shaped Corner Desk, Right w/Spac Saver	17	ea	\$742.40	\$12,620.80	\$1,348.22	\$22,919.74	\$1,278.56	\$21,735.52	\$866.52	\$14,730.84	\$883.05	\$15,011.85	\$1,097.23	\$18,652.91	\$871.00	\$14,807.00	\$1,198.00	\$20,366.00	\$1,072.13	\$18,226.21	\$1,013.27	\$17,225.5
March Marc	D2R	Left w/Spac Saver Return, Right, File/File	18	ea	\$742.40	\$13,363.20	\$1,348.22	\$24,267.96	\$1,278.56	\$23,014.08	\$866.52	\$15,597.36	\$883.05	\$15,894.90	\$1,097.23	\$19,750.14	\$871.00	\$15,678.00	\$1,198.00	\$21,564.00	\$1,072.13	\$19,298.34	\$1,013.27	\$18,238.8
2. September 1. Se	D3R	Right Return, Overhead Hutch and Tack Board -	3	ea	\$1,079.65	\$3,238.95	\$1,705.96	\$5,117.88	\$1,288.32	\$3,864.96	\$2,015.20	\$6,045.60	\$2,015.20	\$6,045.60	\$1,848.25	\$5,544.75	\$1,890.00	\$5,670.00	\$2,015.20	\$6,045.60	\$1,630.92	\$4,892.76	\$2,569.38	\$7,708.1
Description	D3L	w/ Left Return, Overhead Hutch and Tack Board - Private	5	ea	\$635.01	\$3,175.05	\$2,569.38	\$12,846.90	\$1,288.32	\$6,441.60	\$2,015.20	\$10,076.00	\$2,015.20	\$10,076.00	\$1,848.25	\$9,241.25	\$1,890.00	\$9,450.00	\$2,015.20	\$10,076.00	\$1,630.92	\$8,154.60	\$2,569.38	\$12,846.9
Control Proper Property	D4	Wardrob/Display unit, & Wall Mounted Upper	1	ea	\$4,593.75	\$4,593.75	\$3,937.20	\$3,937.20	\$1,869.12	\$1,869.12	\$5,144.40	\$5,144.40	\$5,144.40	\$5,144.40	\$4,490.00	\$4,490.00	\$4,823.00	\$4,823.00	\$5,147.60	\$5,147.60	\$6,583.90	\$6,583.90	\$6,559.11	\$6,559.1
Supplication	D5	U-Shaped Desk w/ wardrobe/display unit, & wall mounted Upper	1	ea	\$5,144.13	\$5,144.13	\$9,437.04	\$9,437.04	\$2,869.12	\$2,869.12	\$7,401.60	\$7,401.60	\$7,401.60	\$7,401.60	\$7,531.30	\$7,531.30	\$6,940.00	\$6,940.00	\$7,408.80	\$7,408.80	\$10,533.22	\$10,533.22	\$9,437.04	\$9,437.0
Part	D6	Straight Laminated Desk w/ Box/Box/File Pedestal & Grommet	3	ea	\$635.01	\$1,905.03	\$901.85	\$2,705.55	\$399.04	\$1,197.12	\$527.25	\$1,581.75	\$525.18	\$1,575.54	\$652.57	\$1,957.71	\$517.00	\$1,551.00	\$527.25	\$1,581.75	\$504.96	\$1,514.88	\$602.63	\$1,807.8
Category V - Desks & Desking	D7	Desk w/ Box/Box/File	2	ea	\$659.86	\$1,319.72	\$1,651.76	\$3,303.52	\$365.44	\$730.88	\$496.54	\$993.08	\$494.59	\$989.18	\$614.56	\$1,229.12	\$487.00	\$974.00	\$496.54	\$993.08	\$475.17	\$950.34	\$567.53	\$1,135.0
Package Pack						\$52,017.35	L	\$92,509.05		\$66,978.56		\$66,797.25		\$67,345.18		\$74,866.09		\$65,024.00		\$80,018.33		\$76,162.70		\$80,932.4
Package Pack																							(I) Western	Contract Furn
Martine Mart	Bid Item																						Rancho Co (Alternate Br	ordova, CA ands Quoted) I
Section Sect		L-Shaped Corner Desk,																						
C-Shaped Corner Deak, C-Shaped Corner Deak, Deak	-	left L-Shaped Corner Desk,																						\$2,865.4 \$3,820.6
Part		right L-Shaped Corner Desk, Right w/Spac Saver	17																					\$14,042.0
Ded L-Shaped Desk Left, w/ Right Return. Overhead St.262.45 S3.78 Luch and Tack Board - Private Office Left Shaped Desk Right, St.262.45 S6.31 S6.31 St.262.45 S6.31 St.262.45 S6.31 St.262.45 S6.31	D2R	ped L-Shaped Corner Desk, Left w/Spac Saver	18	ea																			\$826.00	\$14,868.0
Private Office L-Shaped Desk Right W Left Return, S Vorefread Hutch and 5 Ea Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w S Tack Board - Private Office U-Shaped Desk w Tack Board -	D3R	ped L-Shaped Desk Left, w/ Right Return, Overhead	3	ea																			\$1,262.45	\$3,787.3
Tack Board - Private Office U.Shaped Desk w Wardrob/Display unit, & 1 ea Wardrob/Display unit, & 1 wardrobe display unit, & 1 wardrobe display unit, & 1 ea wall mounted Upper Cabinets - Under Sheriff U.Shaped Desk w wall mounted Upper Cabinets - Under Sheriff U.Shaped Desk w wall mounted Upper Cabinets - Sheriff Straight Laminated Desk w Box/Box/File 3 ea ea ea ea ea ea ea		Private Office L-Shaped Desk Right, w/ Left Return,	_																					* ==**
Wardrob/Display unit, & 1	D3L	Tack Board - Private Office	5	ea																			\$1,262.45	\$6,312.2
Sample S	D4	Wardrob/Display unit, & Wall Mounted Upper Cabinets - Under Sheriff	1	ea																			\$7,667.00	\$7,667.0
Desk w/ Box/Box/File 3	D5	wardrobe/display unit, & wall mounted Upper Cabinets - Sheriff	1	ea																			\$12,625.00	\$12,625.0
Pedestal & Grommet		Desk w/ Box/Box/File Pedestal & Grommet Straight Laminated																						\$1,200.0 \$730.9
	D7		۷	Ed																			ψ303.45	\$67,918.5

Cell: 014 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Global Furn. Grp. Series: Not Given Model # Z36723R Cell: O15 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Global Furn. Grp. Series: Not Given Model # Z36723L Cell: 016 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Custom Transitions Series: Not Given Model # Custom Cell: 017 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Custom Transitions Series: Not Given Model # Custom Comment: Eric Van Leeuwen: Biddewr quoted \$58,379.04 for Bid Item #'s D1L, D1R, D2L, D2R, D6, & D7, for an average per unit price of \$1,242.10723 Cell: J20 Cell: J20 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: AIS Series: Calibrate All Category IV Items, see BOM Cell: V20 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: Teknion Series: Expansion Casegoods Model #: See Model #'s in Category IV - Alternate Brand quotation schedule Cell: X38 Comment: Eric Van Leeuwen: Bidder Quoted Alternate Brand: AIS

Series: Calibrate
Note: See Drawing

1 #19-425-027 Public Safety Facility - Office Furniture REJECTED -Bidder did not provide the Addendum as required (E) Seats & Stations #3 (G) Miles Treaster & Asso. (J) Western Contract Furn Category V: Maxon (A) Give Something Back (B) United Corporate Furn. (C) Seats & Stations #1 (D) Seats & Stations #2 Roseville, CA (F) Campbell Keller Sacramento, CA (H) Sierra Office Supplie (I) VCO Rancho Cordova, CA Workstations Sacramento, CA Sacramento, CA Roseville CA Roseville CA Sacramento CA Sacramento Ca Sacramento CA Unit of **Unit Price** Extension **Unit Price Unit Price Unit Price** Extension Description Quantity **Unit Price** Extension Extension **Unit Price** Extension Extension Extension **Unit Price** Extension **Unit Price** Extension Extension **Unit Price** Measure Mfg Brand: Hon Mfg Brand: Steelcase MFG Brand: AIS Mfg Brand: Maxon Mfg Brand: Maxon Mfg Brand: Allsteel Mfg Brand: Global Furn Mfg Brand: Maxon Mfg Brand: AIS Mfg Brand: Teknion Series: Evolve 6' 6" X 8' Typical 10 \$2,247.80 \$22,478.00 \$2,524,57 \$25,245.70 \$1,383.18 \$13,831.80 \$1,545.02 \$15,450.20 \$1,545.02 \$15,450.20 \$2,458.80 \$24,588.00 \$1,558.00 \$15,580.00 \$1,443.47 \$14,434.70 \$2,939.20 \$29.392.00 \$1,226.25 \$12,262.50 W2 Workstation 6' 6" X 8' Typical \$2,172.25 \$17.378.00 \$2,175.07 \$17,400.50 \$1,475.84 \$11,806.72 \$1,550.78 \$12,406.2 \$1,550.78 \$12,406.24 \$2.065.92 \$16,527.36 \$1,682.00 \$13,456.0 \$1,448.84 \$11,590.72 \$2,641.29 \$21,130.32 \$1,449.25 \$11.594.0 W2A 7' x 6' Typical \$2,977.5 \$1,812.00 \$5,436.00 \$1,364.83 \$4.094.4 \$1,029.23 \$3.087.6 \$1,378.21 \$4,134.6 \$1,376.21 \$4,128.63 \$1,458.96 \$4,376.8 \$1,203.00 \$3,609.0 \$1,285.76 \$3,857.2 \$2,163.36 \$6,490.0 \$992.50 W3 7' x 7" Typical \$2,175.00 \$1.464.00 \$1.398.93 \$2,431.32 \$4.655.90 \$1.746.00 ea \$2,928.00 \$2,797.8 \$900.32 \$1.800.6 \$1,215,66 \$2,431.3 \$1,215,66 \$1.617.36 \$3,234,7 \$4.350.0 \$1,135,75 \$2.271.50 \$2.327.95 \$873.00 W4 7' x 8' Typical 43 \$2,328.26 \$100,115.00 \$2,598.40 \$1,585.93 \$109,051.44 \$127,479.52 \$62,350.00 \$111.731.20 \$1,440,36 \$61.935.4 \$68.194.99 \$1.585.93 \$68,194,99 \$2.536.08 \$1.615.00 \$69,445.0 \$1,481,70 \$63,713,1 \$2.964.64 \$1,450.00 W5 Workstation \$2,810.78 \$25,297.00 \$3,304.30 \$29,738.7 \$1,881.92 \$16,937.28 \$1,912.87 \$17,215.83 \$1,912.87 \$17,215.83 \$2,790.00 \$25,110.00 \$1,948.00 \$17,532.00 \$1,787.15 \$16,084.35 \$3,643.45 \$32,791.0 \$1,865.00 \$16,785.00 ea " x 8' Civil Workstation W5A 7' x 8' Typical 24 \$2,331.54 \$55,957.00 \$2,151.40 \$51,633.6 \$1,481.77 \$35,562.48 \$1,572.59 \$37,742.1 \$1,572.59 \$37,742.1 \$2,004.72 \$48,113.28 \$1,764.00 \$42,336.0 \$1,469.22 \$35,261.28 \$2,622.18 \$62,932.3 \$1,455.25 \$34,926.00 W5B Workstation 8' x 8' Typical \$1,785.00 \$10,710.00 \$2,681.87 \$16,091.2 \$1,133.28 \$6,799.68 \$1,319.88 \$7,919.2 \$1,319.88 \$7,919.28 \$1,836.72 \$11,020.3 \$1,675.00 \$10,050.0 \$1,233.12 \$7,398.7 \$3,030.93 \$18,185.5 \$1,110.35 \$6,662.1 W6 Workstation 8' x 8' Typical \$1,822.00 \$3,644.00 \$1,892.87 \$3,785.7 \$1,215.53 \$2,431.06 \$1,541.57 \$3,083.1 \$1,541.57 \$3,083.1 \$1,779.60 \$3,559.20 \$1,441.00 \$2,882.0 \$1,440.25 \$2,880.5 \$2,808.79 \$5,617.5 \$1,179.00 \$2,358.0 W6A Workstation 9' x 6' Typical \$2,205.00 \$2,205.00 \$2,037.80 \$2,037.8 \$1,590.72 \$1,590.7 \$1,436.92 \$1,436.9 \$1,436.92 \$1,436.92 \$1,913.28 \$1,913.2 \$1,994.00 \$1,994.0 \$1,342.46 \$1,342.4 \$2,471.41 \$2,471.4 \$1,556.25 \$1,556.2 W7 \$21,977.50 \$4.196.80 \$20.984.00 \$4,395.50 \$2,478.59 \$12,392.9 \$16,442.80 \$3,966.48 \$19,832.4 \$13,920.00 \$3,072.38 \$15,361.90 \$4,456.40 \$22,282.00 \$2,277.00 \$11,385.00 \$3,288.56 \$3,288.56 \$16,442.80 \$2,784.00 15' x 9' I.T. Workstation 8' x 5' L-Sahped

\$1,521.43

\$1.628.7

\$3,119.5

\$5,570.5

\$198,297.7

\$1.521.43

\$1.628.71

\$1,559.78

\$2,785.25

\$1.521.43

\$1.628.7

\$3,119.56

\$5,570.5

\$198,291.7

\$1.836.96

\$1,935.12

\$1,863.12

\$2,618.40

\$1.836.96

\$1.935.13

\$3,726.24

\$5,236.8

\$280,062,00

\$1,755.00

\$1,554.00

\$1,245.00

\$2,632.00

\$1.755.00

\$1.554.00

\$2,490.00

\$5,264.0

\$206,217.00

\$1,421,42

\$1,521.66

\$1,457.26

\$2,602.18

\$1,421,42

\$1.521.6

\$2,914.52

\$5,204.3

\$185,258.47

\$2,575,56

\$2.619.27

\$2,205.76

\$3,639.52

\$2,140.00

\$1,808.00

\$1,833.50

\$3,943.00

W9

W10

W12

W13

Workstation 9' x 8' L-Shaped Vorkstation w/ 30" dee

work surfaces x 6' Transaction Top

Workstation 15' x 7" Hich Tech Crime

Workstation

\$2,140.00

\$1.808.00

\$3,667.00

\$7,886.0

\$282,633.00

\$2,127.00

\$2.016.14

\$1,711.03

\$2,988.96

\$2,127.00

\$2.016.14

\$3,422.06

\$5,977.9

\$300.077.49

\$1,222,88

\$1,554.24

\$1,108.72

\$2,263.84

\$1,222.8

\$1.554.2

\$2,217.4

\$4,527.6

\$177,698.74

\$1.521.43

\$1,628.71

\$1,559.78

\$2,785.25

\$2,575.56

\$2,619.2

\$4,411.5

\$7,279.0

\$350,313.15

\$1.195.00

\$1.508.00

\$1,072.00

\$2,190.00

\$1,195.00

\$1.508.0

\$2,144.00

\$4,380.0

\$173,829.35

Cell: H26

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Steelcase Series: Answer

Cell: J26

Comment: Eric Van Leeuwen:
Bidder Quoted Alternate Brand: AIS

Series: Divi

All Category V Items, see BOM

Cell: L26

Comment: Eric Van Leeuwen:

Bidder quoted the desired brand for all items in Category V - Maxon Workstations

Cell: N26

Comment: Eric Van Leeuwen:

Bidder quoted the desired brand for all items in Category V - Maxon Workstations

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Allsteel

Series: Terrace

Cell: R26

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Global Furn. Grp.

Series: Evolve

Cell: V26

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Teknion

Series: Expansion Casegoods Model #: See Model #'s in Category IV - Alternate Brand quotation schedule

Cell: X26

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: AIS

Series: DIVI

Note: 2" Panel

A	В	С	D	E	F	G	Н	I	J	K	L	M	N	0	Р	Q	R	S	Т	U	V	W	Х
	#19-425-027 Public Safety Fa	cility - Office Furni	ture	Bidder did n	CTED - ot provide the as required																		
	Category VI - OFS \	Workstations		` '	mething Back nento, CA	(B) United Co Sacrame			& Stations #1 ville, CA		& Stations #2 ville, CA	Rose	& Stations #3 ville, CA and & Model)		obell Keller ento, CA	Sacran	easter & Asso. nento, CA rand Quoted)		office Supplies nento, Ca	` ' '	VCO ento, CA	` Rancho C	Contract Furn. Cordova, CA rand Quoted)
Bid Item	Description	Quantity	Unit of Measure	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
W11A	6' L x 30" D Straight Workstations	6	ea	\$614.15	\$3,684.90	\$555.90	\$3,335.40	\$164.96	\$989.76	\$436.00	\$2,616.00	\$436.00	\$2,616.00	\$638.99	\$3,833.94	\$409.00	\$2,454.00	\$436.00	\$2,616.00	\$453.07	\$2,718.42	\$555.90	\$3,335.40
W11B	4" L x 30" D Straight Wrokstations	2	ea	\$563.00	\$1,126.00	\$452.88	\$905.76	\$144.96	\$289.92	\$355.20	\$710.40	\$355.20	\$710.40	\$584.67	\$1,169.34	\$333.00	\$666.00	\$355.20	\$710.40	\$369.11	\$738.22	\$452.88	\$905.76
W15	168" w x 34" D x 45" H Executive Secretary Workstation	1	ea	\$11,648.00	\$11,648.00	\$8,079.93	\$8,079.93	\$6,341.20	\$6,341.20	\$6,341.20	\$6,341.20	\$6,341.20	\$6,341.20	\$9,681.25	\$9,681.25	\$5,945.00	\$5,945.00	\$8,880.40	\$8,880.40	\$6,589.51	\$6,589.51	\$8,085.03	\$8,085.03
W16	84" w x 94" D x 45" H Executive Secretary Workstation	1	ea	\$7,776.00	\$7,776.00	\$5,255.55	\$5,255.55	\$4,122.00	\$4,122.00	\$4,122.00	\$4,122.00	\$4,122.00	\$4,122.00	\$4,677.50	\$4,677.50	\$3,865.00	\$3,865.00	\$5,317.60	\$5,317.60	\$4,283.41	\$4,283.41	\$5,255.55	\$5,255.55
1	•		•		\$24,234.90		\$17,576.64		\$11,742.88		\$13,789.60		\$13,789.60		\$19,362.03		\$12,930.00		\$17,524.40		\$14,329.56	ı	\$17,581.74
1 5 7 3 9	Category VI - OFS V	Workstations														Sacran	easter & Asso. nento, CA rands Quoted)					` Rancho C	Contract Furn. Cordova, CA rands Quoted)
Bid Item	Description	Quantity	Unit of Measure													Unit Price	Extension					Unit Price	Extension
W11A	6' L x 30" D Straight Workstations	6	ea													\$417.00	\$2,502.00					\$165.00	\$990.00
W11B	4" L x 30" D Straight Wrokstations 168" w x 34" D x 45" H	2	ea													\$325.00	\$650.00					\$145.00	\$290.00
W15	Executive Secretary Workstation 84" w x 94" D x 45" H	1	ea													\$5,945.00	\$5,945.00					\$8,085.03	\$8,085.03
W16	Executive Secretary Workstation	1	ea													\$3,865.00	\$3,865.00					\$5,255.55	\$5,255.55
1	•	•		-											ļ		\$12,962.00						\$14,620.58

Cell: 110

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: AIS Series: Divi

Cell: O10

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Allsteel

Series: Aware

Model #: Not given

Cell: I11

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: AIS

Series: Divi

Cell: 011

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Allsteel Series: Aware

Model #: Not given

Cell: 012

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Custom Tranistions

Series: Not Given Model #: Custom

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Custom Tranistions

Series: Not Given Model #: Custom

Cell: H14

Comment: Eric Van Leeuwen:

Bidder Quoted the Desired Brand and Models

Cell: L14 Comment: Eric Van Leeuwen:

Bidder quoted the desired brand for all items in Category VI - OFS Workstations

Cell: N14

Comment: Eric Van Leeuwen:

Bidder quoted the desired brand for all items in Category VI - OFS Workstations

Cell: Q22

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Herman Miller

Series: Everywhere Model #: Not Given

Cell: W22

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: AIS

Series: Day To Day

Model #: T-RCR307229ATC

Cell: Q23

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Herman Miller

Series: Everywhere Model #: Not Given

Cell: W23

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: AIS Series: Day To Day

Model #: T-RCR307229ATC

	D D	1 (T D	Г г		1 6	н	1	1 1	ľ	1 1	M	N	0	Гр	0	D	c	т 1		V	W	
1 -	#19-425-027 Public Safety	Facility - Office Furn	iture	į c	Ļ	g	п		<u>,</u>	, R	Ļ	IVI	į iv	U	ŗ	<u> </u>	N.	<u> </u>	<u>'</u>	0	v	VV	^
2 3 4 5 6				Bidder did n	ECTED - not provide the n as required																		
8	Category VII - N Item				omething Back nento, CA	(B) United Co		(-)	& Stations #1 ville, CA		& Stations #2 ville, CA	Rose	& Stations #3 ville, CA and & Model)		obell Keller nento, CA	(-)	aster & Asso. ento, CA		ffice Supplies ento, Ca		VCO ento, CA		Contract Furn. ordova, CA ands Quoted)
9 Bid I	Description	Quantity	Unit of Measure	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
A0	Edges, Unicolor	11	ea	\$622.00	\$6,842.00	\$520.73	\$5,728.03	\$337.12	\$3,708.32	\$337.12	\$3,708.32	\$615.88	\$6,774.68	\$613.97	\$6,753.67	\$534.00	\$5,874.00	\$545.75	\$6,003.25	\$592.53	\$6,517.83	\$492.22	\$5,414.42
11	Dual Stream Receptacle, 22.5"w > 21"d x 49"h	13	ea	\$372.00	\$4,836.00	\$459.83		\$466.71	\$6,067.23	\$466.71	\$6,067.23	\$466.71	\$6,067.23	\$466.71	\$6,067.23	\$473.00	\$6,149.00	\$423.06	\$5,499.78	\$597.29	\$7,764.77	\$423.06	\$5,499.78
12	-				\$11,678.00		\$11,705.82		\$9,775.55		\$9,775.55		\$12,841.91		\$12,820.90		\$12,023.00		\$11,503.03		\$14,282.60		\$10,914.20
14 15				_												_					_		
12 13 14 15 16 17	Category VII - N Item															(G) Miles Tre Sacram (Alternate Br	ento, CA						Contract Furn. ordova, CA rands Quoted)
19 Bid I	Description	Quantity	Unit of Measure													Unit Price	Extension					Unit Price	Extension
A0	Accoustical Panel Divider, Medium Dimensions, Round Edges, Unicolor	11	ea													\$104.00	\$1,144.00					\$291.00	\$3,201.00
A(Dual Stream	13	ea													\$473.00	\$6,149.00					\$423.06	\$5,499.78
22	·															·	\$7,293.00				_		\$8,700,78

Cell: E10

Comment: Eric Van Leeuwen:

Bidder quoted the desired brand, series, and model #

Cell: I10

Comment: Eric Van Leeuwen:
Bidder Quoted Alternate Brand: E2O Series: Bord

Model # Divider

Cell: K10

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: E2O Series: Bord

Model # Divider

Cell: E11

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Rubbermaid, Series: Collect A Cub

Model: FGNC36W2

Cell: H12

Comment: Eric Van Leeuwen:

Bidder Quoted the Desired Brand and Models

Cell: Q20

Comment: Eric Van Leeuwen:

Bidder Quoted Alternate Brand: Symmetry Model # DIV-PET-2318-S

Cell: W20

Comment: Eric Van Leeuwen:
Bidder Quoted Alternate Brand: Watson

Series: Tonic

Model #: TGATD2424

А		В	С	D	E	F	G	Н	I	J	K	L	М	N	0	Р	Q	R	S	T	U	V	W	Х
1	#	19-425-027 Public Safety Facil	lity - Office Furnit	ure														-						
3					REJEC	CTED -																		
5	_				Bidder did no Addendum	ot provide the as required																		
6 7 8	(Category VIII - Rece and Installat			(A) Give Son Sacrame	•	(B) United Co	•	(C) Seats &	Stations #1	(D) Seats & Rosev	Stations #2 ille, CA	(E) Seats &		(F) Campl Sacrame		(G) Miles Tre	aster & Asso. ento, CA	(H) Sierra Of Sacram	ffice Supplies ento, Ca	(I) \ Sacrame	/CO ento, CA		Contract Furn. ordova, CA
Bid Ito	em	Description	Quantity	Unit of Measure	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
10 NA		Option # 1 Without Functioning Elevators	1	ea	\$171,190.00	\$171,190.00	\$114,852.60	\$114,852.60	\$174,189.00	\$174,189.00	\$184,400.00	\$184,400.00	\$184,400.00	\$184,400.00	\$163,400.00	\$163,400.00	\$118,078.00	\$118,078.00	\$155,972.00	\$155,972.00	\$224,604.10	\$224,604.10	\$136,198.00	\$136,198.00
11 NA		Option # 2 With Functioning Elevators	1	ea	\$144,550.00	\$144,550.00	\$103,950.00	\$103,950.00	\$147,538.00	\$147,538.00	\$157,195.00	\$0.00	\$157,195.00	\$157,195.00	\$124,400.00	\$124,400.00	\$113,108.00	\$113,108.00	\$131,713.00	\$131,713.00	\$182,435.42	\$182,435.42	\$121,216.00	\$121,216.00
12						\$171,190.00		\$114,852.60		\$174,189.00		\$184,400.00		\$184,400.00		\$163,400.00		\$118,078.00		\$155,972.00		\$224,604.10		\$136,198.00

A B C D	T E E	G H		KL	M N	0 P	Q R	S T	l u l v	W X
9-425-027 Public Safety Facility - Office Furniture						, , , , , , , , , , , , , , , , , , ,	Q 1 N	, , ,	_ · · · ·	
	REJECTED - Bidder did not provide the Addendum as required	REJECTED - Bidders Alternates not accepted for Category I, II, III, IV, VI, & VII	REJECTED - Bidders Alternates not accepted for Category I, II, III, IV, VI, & VII	REJECTED - Bidders Alternates not accepted for Category I, II, III, IV, VI, & VII	100% AS SPECIFIED	REJECTED - Bidders Alternates not accepted for Category I, II, III, IV, VI, & VII	AS SPECIFIED, EXCEPT ALTERNATE SYSTEMS WORKSTATIONS	REJECTED - Bidders Alternates not accepted for Category I, II, III, IV, VI, & VII	REJECTED - Bidders Alternates not accepted for Category I, II, III, IV, VI, & VII	AS SPECIFIED, EXCEPT ALTERN SYSTEMS WORKSTATION:
CATEGORIES SUMMARY	(A) Give Something Back Sacramento, CA Unit Price Extension	(B) United Corporate Furn. Sacramento, CA Unit Price Extension	(C) Seats & Stations #1 Roseville, CA Unit Price Extension	(D) Seats & Stations #2 Roseville, CA Unit Price Extension	(E) Seats & Stations #4 Roseville, CA Unit Price Extension	(F) Campbell Keller Sacramento, CA Unit Price Extension	(G) Miles Treaster & Asso. Sacramento, CA Unit Price Extension	(H) Sierra Office Supplies Sacramento, Ca Unit Price Extension	(I) VCO Sacramento, CA Unit Price Extension	(J) Western Contract F Rancho Cordova, C Unit Price Extens
CATEGORY I - SEATING	\$243,536.33	\$168,872.29	\$164,429.51	\$164,429.51	\$220,247.24	\$424,393.79	\$228,640.00	\$233,422.41	\$259,746.52	\$240,028.03
CATEGORY II - TABLES	\$62,537.71	\$100,614.84	\$67,032.18	\$67,275.57	\$83,686.58	\$82,592.73	\$82,001.00	\$87,100.46	\$85,467.72	\$100,110.78
CATEGORY III - FILING & STORAGE	\$71,017.82	\$60,947.27	\$34,968.88	\$48,388.73	\$55,465.10	\$60,539.17	\$50,351.00	\$53,008.68	\$49,602.31	\$56,759.07
CATEGORY IV - DESKS & DESKING	\$52,017.35	\$92,509.05	\$66,978.56	\$66,797.25	\$67,345.18	\$74,866.09	\$65,024.00	\$80,018.33	\$76,162.70	\$67,918.55
CATEGORY V - MAXON WORKSTATIONS	\$282,633.00	\$300,077.49	\$177,698.74	\$198,297.71	\$198,291.71	\$280,062.00	\$206,217.00	\$185,258.47	\$350,313.15	\$173,829.35
CATEGORY VI - OFS WORKSTATIONS	\$24,234.90	\$17,576.64	\$11,742.88	\$13,789.60	\$13,789.60	\$19,362.03	\$12,930.00	\$17,524.40	\$14,329.56	\$17,581.74
CATEGORY VII - MISCELLANEOUS ITEMS	\$11,678.00	\$11,705.82	\$9,775.55	\$9,775.55	\$12,841.91	\$12,820.90	\$12,023.00	\$11,503.03	\$14,282.60	\$10,914.20
CATEGORY VIII - RECEIVE, DELIVERY AND INSTALLATION	\$171,190.00	\$114,852.60	\$174,189.00	\$184,400.00	\$184,400.00	\$163,400.00	\$118,078.00	\$155,972.00	\$224,604.10	\$136,198.00
	\$918,845.11	\$867,156.00	\$706,815.30	\$753,153.92	\$836,067.32	\$1,118,036.71	\$775,264.00	\$823,807.78	\$1,074,508.66	\$803,339.72
		•		•			•	•	•	•
CATEGORIES SUMMARY							ALTERNATES (G) Miles Treaster & Asso. Sacramento, CA Unit Price Extension			ALTERNATES (J) Western Contract F Rancho Cordova, C/ Unit Price Extens
CATEGORY I - SEATING	1						\$174,923.00	1		\$193,942.36
CATEGORY II - TABLES							\$83,256.00			\$63,596.84
CATEGORY III - FILING & STORAGE							\$44,555.00			\$44,872.82
CATEGORY IV - DESKS & DESKING							\$65,024.00			\$67,918.55
CATEGORY V - MAXON WORKSTATIONS							\$206,217.00			\$173,829.35
CATEGORY VI - OFS WORKSTATIONS							\$12,962.00			\$14,620.58
CATEGORY VII - MISCELLANEOUS ITEMS							\$7,293.00			\$8,700.78
CATEGORY VIII - RECEIVE, DELIVERY AND INSTALLATION							\$118,078.00			\$136,198.00
	-						\$712,308.00	1		\$703,679.28

Cell: W10

Comment: Eric Van Leeuwen:

Seating As Specified Bid

Cell: W11

Comment: Eric Van Leeuwen:

Tables As Specified in bid

Cell: W12

Comment: Eric Van Leeuwen:

Filing & Storage As Specified in Bid

Cell: W13

Comment: Eric Van Leeuwen:

Desks & Desking As Specified in Bid

Cell: Q14

Comment: Eric Van Leeuwen:

Alternate Specified for Systems Workstations, where bidder bid Global Evlove

Cell: W14

comment: Eric Van Leeuwen:

Alternate Specified for Systems Workstations, where bidder bid AIS Divi

Cell: W15

Comment: Eric Van Leeuwen:

OFS Workstations As Specified in bid

Cell: W16

Comment: Eric Van Leeuwen: Misc Items As Specified in Bid

Cell: W17

Comment: Eric Van Leeuwen:

Install quoted without Elevators